FINITE MATH LOGIC EXaM D NAME

SHOW ALIL WORK ON THIS TEST OR SEPARATE PAPER. Justify all answers.

In 1

.

- 2 state De Morgan's Laws:

2.

In 3 - 8, give negations for each of the following statements:

3.

4.

10.

11.

In

12.

13.

14.

15.

In

le.

17.

It is rainy or it is cold.

It is rainy and it is not cold.

If it rains, then it will be cold.

Some dogs have fleas. 7. All dogs have fleas.

No dogs have fleas.

9-11, given: “If you are smart, then you will study for this test.”

Contrapositive:
Inverse:

Converse:

12-15, given: “If you do not smoke, then your breath is clean.”

Converse:
Contrapositive:
Inverse:

Which of the above is equivalent to the original statement?

16-17, given: “You were lucky if you broke even on the lottery.”

Converse:

Contrapositive:



18. Express the disjunction as an implication:
"You broke even or you were lucky.”
19. Express the implication as a disjunction:

"If you broke even,

then you were lucky."”

In 20-27, use logical principles (name the principle or fallacy!) or
Euler circles to determine if the arguments are valid or

invalid.

If Jane is intelligent, then
she earns A’s in math. She
earns A’s in math.

Jane is intelligent.

20.

Jane is not intelligent. I
know this because if Jane

were intelligent, then she
would make A’s in math, and

22.

she does not make A’s in math.

24. All insects have six legs.
All fleas have six legs.
Therefore, all fleas are

insects.

26. All teachers assign work.
Therefore,

Therefore,

21.

23

25.

Show or explain each answer.

If Jane is intelligent, then
she earns A’s in math. She is
not intelligent. Therefore,
she does not earn A’s in math.

If you watch too much TV, then
you will go crazy. If you go
crazy, then you can’t do your
homework. You watch too much
TV. Therefore, you can’t do
your homework.

All birds have feathers. All
penguins are birds. Therefore,
all penguins have feathers.

No people who assign work are lovable.
no teachers are lovable.



In 27-32, select the correct answer (MULTIPLE CHOICE):

27.

28,

29.

30.

31.

32.

Select the statement that is the negation of the statement
"] am not hungry and I am thirsty."

A. I am hungry and I am not thirsty.

B If I am not hungry, then I am thirsty.

C. If I am hungry, then I am thirsty.

D I am hungry or I am not thirsty.

Select the statement below that is logically egquivalent to

"It is not true that Jim is playing golf or Mary is playing
tennis."

Jim is not playing golf and Mary is not playing tennis.

Jim is not playing golf or Mary is not playing tennis.

Jim is playing golf and Mary is not playing tennis.

If Jim is not playing golf, then Mary is not playing tennis.

g wp

Select the statement below that is logically equivalent to
"If Jones is in Los Angeles, then he is in Calif.”

If Jones is in Calif, then he is in Los Angeles.

If Jones is not in Los Angeles, then he is not in Calif.
If Jones is not in Calif, then he is not in Los Angeles.
Jones is in Los Angeles, or he is in Calif.
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Select the conclusion that will make the following argument valid.
"If I pass the CLAST, then I will get my AA degree. If I get
my AA degree, then I will attend the university."

A, If I do not pass the CLAST, then I will not attend the

university.

B. If I pass the CLAST, then I will not attend the university.
C. If I get my AA degree, then I pass the CLAST.

D If I pass the CLAST, then I will attend the university.

Select the rule of logical equivalence that directly (in one step)
transforms statement "i" into statement "ii."

i If x° is even, then x is even.
ii. If x is not even, then x2 is not even.
A, "Not (p and q)" is equivalent to "(not p) or (not q).
B. "If p, then g" is equivalent to "(not p) or g.”
C. Correct equivalence rule is not given.
D. "If p, then g" is equivalent to "if not ¢, then not p."
Study the information given below. If a logical conclusion is

given, select that conclusion.

"If I pass this test, then I will graduate. I pass this test or
I get a job. I did not get a job."

I did not graduate.

I did graduate.

I did not pass this test.

None of the above is warranted.

uauwp



LOGIC Exam D Solutdions

12, DeMrgant lass 3. ~ (Raing V cold) #+ ~d (Bafny A~ cold)
AJ(p/\g_): NP\/’VS» = A_@_ﬁm;’mj a:_y..j /_')_q_'.ff-dld :‘_/_\_}_a_?!' &l‘nn,_d_?: C__.g_/_c_l
~(pvg)= ~pA g

5. ~ (T Minlﬁé&wu) 6. Sme do'?s have fleas 7. A//afe;s Awa-y%a;s'

= Tt rins aud 4 ’'s not cold. _!_\/_c_)_ c{oas Aawe-ﬁ’eas Sore doﬂkm‘%

8. Mo dogs have fleas S G= 1], TF smart, Yo studs B 5T .
_______d’gs have Hleas . F Cm‘b-v,oas : J?qmdaﬁsﬁdgl {ﬁt.. 9Mﬂﬁef3mwf2
0., Tnverse : IX naf.:mezr'i*; ... not Stady .

Il. Gnwerse = ¢ study for fes?, %Nc/mare. smart
S f2- ISy T yow dm# Sma&,&ém%i‘: cleas

12, CW)'\Wrse,: rf bm'ﬁé s ¢ leon ! -b@,_ yom don & Smmoke
13- anrwsl'-f—;h - I“p bma 's nﬂ+ C«/eﬂ’}, %u ?M Smdfe& .

4. 13, verse 1 IF gan :S‘Mg&/ . brentl /s ﬂéf?‘:‘c/'@dﬂ.
o Gu‘fmiaasf't{‘r}*e g

S16o17; Yo svere. Livikyy (F g broke ever. o T brokeeva. , Sl
/6. Gnye rse t TF gyne were | ! %»-. Yar broke even .
17. (”\57"70#5: T¢ na—%’%, {&‘émdlﬁ nut- é)“d cve, .
8. Voo broke Sre. o Yk ket [uc.%, (Mef.::f?‘ng mfm,a/fzas %-0%»“9
TE gy did nit brecd eve.., Han. yon wee . y
N IF Yy wrere ppd- %Iﬁé& Yo broke eve... . "ﬂiiﬁ‘%,”‘yéﬁﬂééﬂé
7 Pl broke ever, o, You wnl, heel,, | —MIW% mMM
Yo clr.inaz‘fm.é’m, P Yo wrea %

20. T>A ':“[[‘“’7&/ 2/, T#A@n,:ax\\/ﬂrhb 23-‘7’\:’:&
A ; e J Cons . C = v HLy
% Converse, iIMAﬂn‘ inrer ~ A Pos’ 2y

S~ <

- | De ) VALID b
R 25" Oy 27 m (WBAT) @
. B @ @ - HVAT @ |
FALLACY : W8
(VALID)

28. Derrge_ . 2 Conrops l. & pag 32, Fac —5Gud
' . bt so 30- CL'* AA '? - & Jq
~ETVR A e, AA=> Uniy, $ MED ~p Paso ¥/ 36

LL
T ~ Tok. {Mg > Sl
SATANM ~ @l ~LA Trang 4 c"mﬂ??w,' T imY fes

@ L wﬂrv’. :’erd @ﬁf&ﬂ‘






